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Seventh Semester B.E. Degree Examiilation, Jan./Feb.2023
Control Engin'bbring

Max. Marks: 10f)

lYote: Anstper any FIVE full questions, choosing ONE futl question from ench module.

.|.

Fig.Q3(b)

OR
4 a, De frne:

(i) Delay time
(iv) lVlaximum ovcrshoot

+

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)

(iii) Peak time

b. A unity feedback system is characterized by open loop transftr function G(s) =

(10 Marks)

16

+2s+16
Detcrmine the lbllowing when the system subjected to unit stelt in1;ut :

(i) Undan.rped not usual fiequcncy (ii) Darnping ratio (iii) Peak overshoot
(iv) Peak time (iv) Settling time (10 Marl<s)

Module-3
5 a. Reduce the block diagram as shown in Fig.Q5(a) to simple form and find transfer function:

(ii)
(r)

Rise time
Setting tirnc

JL



b. Obtain transfer function of block diagram shown in F reduction teclrniclue

cs)

l8ME71

(10 Marks)

I

P-(s t +

6 a. For thc system

b. Using SFG ancl Mason
in Fig.Q6(b).

Mason's gain fornrula.

611 I c(,r)

,,,.t:tt.

's gain formu I trans{br function
Fig.

la, obtain
(10 \'larks)

of system shorvn

5

({ ( (r,

7

-Au

(10 Marks)

of closed loop system as function fbr operr

(10 Marks)

Routh Hunvitz criterion having characteristic

0 (10 \tarl<s)

oli.
for ncgative leedback system whosc opcn loop translcr firnction is

K
8 Sketch th

givcn bv

:

' t;..

-t

* tlz

_ttr

s(s+3)(sr +3s+4.5)
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(20 Marks)
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Fig.Q6(b)



Nlodule-5

9 a, Sl'cte Ir polur plot lbr rrarrslcr fi.rnction G(s) - ,',? ,s(s-lxs+2)

b. Open loop function control system G(s)H(s) = ,,r-L ^. , sketch Nyquist p
s'(s + 2)

stability.

10

OR

A unity fi:cdback control system has G(s) = t--9 * . Draw the Bodc plot if'phasc
s(s+2;1s+20;

cross over occur at 0l: 6.35 rad/sec, find the coresponcling gain rnargin. (20 N,tarks)
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Sevex-st&r Sennester 8.tr" &egree Exarmiraatten, Jam"/F'eb. 2{}23

fficpsm pe$ecr &Eded ffi ,esfr gm mmc* fu$msxue$ac&exr$mg

'l'iinc: 3 lrls. Mar. Marks: 100

,\'ote : ,lrtstver nn_y, b-!L'E Jit{{ questrititrs, cltoosing {}t\tE Jfulf question front euclt modu{e.

&'lodule-1
I zr. \\ihart is ALrtor-r-ration'l List clitlbrent t-vpes of aillor-nalion ancl cliscuss rvith an example.

(10 llar[<s)
b. De line : (i) ProrlLrclion rate

(r i) ProdLLctior-r capac rtl
(iii ) Utilization ancl rr ailabilitl
(iv t NlLl' ancl WIP (10 Nllrks)
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oR.
Slictch and explain i,ur\/ t\\'o types ol'ALttomalecl tlou, iincs. (10 &Iarks)

The icleal cycle tinre olan l(r station translir line is 1.4 rnin. The average clowu time per line
r,iill be 6 min and the probabilrtv o1'brcah elou,ns per cycle is cqiial lor a1l c,vcles ancl is equal

to 0.004. Deteunine production rate ancl line eflicieucy bir consiclering botl'r uppel bound and

lori'er bound approaches. (10 N'l*rks)

&-trqcluile-2
3 a. Brreflv crltlairr cicsign pt'ocess iin,-l thc'ap;:licration of contpute:r in dc:;igli process

b. irrlrlain the tirllowirrgl in detail:
Translation . Rrttation, C'oncaietration and betrelits olClAD.

5 a. DelLrre GroLrp'l'ccimology. List varioLrs types of I]VIS ancl benc'tlts o1'FN.'lS.

b. What cio yoLi nreAn by AsiRs/ Erplain bnetly'alrout P:rrt Identiiication Svstctt-t

(trC &larks)

(10 &Iarks)

OR
4 a. Wlrat clo ),oLr Lrnderstanci by CAPP'l Witir a block diagranr erplain Ceneratir,'e S1'steur.

(10 hlarks)

b. \rr'ritc a note on N'IRP InpLrts ancl OutpLrts, Benefits of NtiRP. (10 Ntarks)

Moclule-3
(1(i i\tarl<s)
(1() &{rri<s)

OR
5 a. A manual assernbly line has to accomplish 10 work elements to compicte the assernbly. The

elcnlent tiutes and precedeuce requilements arc Listed in the table. The production rate of the

line is 60 Lrnits per hour. The elflcicncy of the lirre is 95'% ancl tiie repositionmg time is

3 sec. Use Kilbridge and Westers method to balance the line ancl compute balance delay aird

baiance e1'lrcri:n

(10 Ntarks)

b. From irbc.r,e clata courpute bal:rncc dclay ancl balance efllciertcvusirtg RPW methocl.
(10 N'l a rks)

4 5 6 1 8 c) IOE lernen t I 2 .-1

0i 0.-5 0.6 0.4 0.6-l'.. (nrin ) 0.-l 0.4 03 0.2 0.4
Rg1,2 2 3. ,+ I ) 6,1Prccecclecl by I
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D'xruts-[e:{'7 tt. Define UNC.. Enlist various advantages r disaclvantages and application of CNC (10 i\'lurks)

tr. Lisl fj:r,r,C, and Vl cocles voll calre across and rvrite a progranr to cnt lhe proliir: shoirm it-t

Fig QT(b)
X

Z3"/
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oee ra -14'la

N{odule-5
9 a. Discuss the basrc princrples o{' adclrtrve rrauulactur ing and list various advautages i'

limitations of AXzl technique. (10 r\'Iarks)

b. ExltLain tlre process iu bricf plrotopolytner-ization. t-natetial.jetting. (10 Nlarks)

f) LL Dt M E N a L"N 6

I':ig.Q7(lr)

oR
I a. With a ncat sketches shou, robot cornpouents and.ioints.

b. List variorLs confislrration ola llclush'ialrobol. sketch aucl c1rau, in cletaii

10

otd
:r. Describe Slicing in AM.
lr. Erplairr thc lbllorr ittq :

(i) Direct Energy deposition (ii) Sheet latnination

(tr0 i\,[.art<s)

{10 NIai'k-*)

(1 0 Nla rlis)

(10 NIarl<s)

( l0 h'[a rks)

e1d

2ctf)
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Seventh Semester B.E. Degree
Total Quality

Time: 3 hrs.

Note: Answer any FIVE fall questions,
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1 a. Define Quality. Explain quality life in middle

ONE.full question.from eoch module,

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
affects in thc

(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
Award? What

(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 h'Iarhs)
(10 N{arhs)

(10 Marks)
(10 N{arks)

age dwing lndustrial revo lution.

b. What are the factors

2

4

Modute-5
9 a. What is meant by l-otal Productive Murrt.nun.., with an example?

b. Define Quality by Design in TQM and What are elements of Quality by design?

OR
l0 a. Define the Environmental Management Systems and what is the importance.

b. Explain EMS under ISO 14001. What is the cost and benefits?

Module-2
3 a. f:xplain the Modern method of Leadership.

b. What are the duties of Quality Control?

Module-3
5 a. Explain with neat sketch, the Kano model.

b. What are the elements present in structure of Quality cLrcle?

OR
6 a. Mention the Tangible and intangible benefits through TQM.

b. Who was Malcolm Baldrige? What is the Malcolm Baldrige
was the award estahlished?

Module-4
7 a. What is Six Sigma? Definc Six Sigma and phases olsix Sigma.

b. With neat analysis of graph, explain Pareto Analysis.

OR
8 a. Define Process of Operation of Quality circle and steps.

b. What are the benefits of Forming Quality circles?
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Max. Marks: 100

question from each module.

Seventh Semester B.E. Degree Exa n, Jan./Feb.2023
Additive Manu ring

Timc: 3 hrs.

Note: I

I a. Define Additive Manu
Manufacturing process in

b

c.

4 a. List the ad

b. Sketch and
materials.

c. List

nsv)er any FIVE /ull questions, cltoosirtg ONE fullO
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List out

OR

disadvantages of Acldit ivc

the various

(06 Marks)

(06 )Iarhs)
note on l-'l)N{

(10 Marks)
(04 Marks)

a neat sketch (10 Marks)
of LOM (10 Marks)

sition process arrd list its advantages anrl
(10 Marks)

explain lnk based direct write process
(10 Marks)

(08 Marks)
(06 Marks)

5 a. Deseribe three dimens
ir. Exp lain Principle of and

6 a. With a

disad
b List the Direct

'l.ll

explain Beam Depo

write technologies and

7 a. Discuss
b. Write a

c. Discuss

guidclincs for process se

short note on STL file.
problems occured wrth S

Module-4
lection in AM.

TL file.

OR

I of2

(06 Marks)

OR
2 a. L:xplain the classificatron of Additrve Manufacturtng process. (10 )Iarks)

b. Writc a notc on :

i) Reverse Engineering Technology ii) Corlputer Aided Design 
-fechnology.

(10 \Iarks)

Module-2
3 a. Wrth a neat sketch, briefly explain principle operation o1' Sterrolithography. Statc its

applications. (I0l'larks)
b. Irxplain the principle operation of selective laser sintering with neat sketch. List tirc

advantages ofST-S. (10 Nlarks)
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b.

9a.

vestment castlng

18MIl74t

(10 NIarhs)

and non thermal
(10 NIart<s)

(10 Marks)
(10 Marks)

(10 Marks)

(10 Marks)

b.

10 a. Irxplain Llse ol'pattern
b. Write a note on .

i) Align rechnology

OR
process tbr in

ii) DDM drives
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Seventh Se

Time: 3 hrs.

Note: Answer any

1 Di f{'erentrate between Energy
[:xplain dilltrent fbrnrs of
lixplain thc kcy trcnd in

18ME7s1

023

Marks: 100

tutodule.

(04 NIarks)
(06 trlarhs)
(l0l\{arli.s)

(06 Marks)
(06 Marks)
(08 Marks)

les
(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(06 Marks)
(06 Marks)
(08 Marks)

Scenario

4
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a.
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L.

a.

b

2

3 a.

b.

a.

b.

a.

b

L.

OR
a. Write a short notes 0n :

i) Tropical rain fbrest ii) Savannas iii) Arctic "l'undra. 
(10 \larks)

b. What are the Ecological pyramids? Explain why some of these pyran"rids are upright ri.,hilc
others are inverted in different ecosystem. (10 Nlartrs)

a.Brieflydescribethesources,effectsffiofnoisepollution.(10,\larks)
b. What are the natural and man rnade pollutants that cause ALr pollLrtron'? (10 Nlarks)

a. Write a short note on . 
oo

i) Bhopat gas tragedy ii) Love canal tragedy. (10 i\rarhs)
b. How can you as an individual , prevent environmental pollution? Why such an ef{brt ;rt

individual level is important? (10 Marks)

I of 2
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(10 NIarks)
(10 NIarks)

Module-5
9 a. What are thc rnajor implications of enhanced

b.

10 a.

Write a critical note on Nuclear

Discuss the salient features of .

i) Wild l-if'e (Protection) Act 1

ii) Forest (Conservation) Act
b. What are the different Environmental awareness

(10 N'Iarks)

in the Society?
(101\Iarlis)
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